PSSC SHM problems

1. A spring has a restoring force of 320 N when it is stretched 22.1 cm.  What is the spring's constant k in N/m?

2. A very stiff spring has a k = 24350 N/m.  What is its restoring force when you distort it 1.00 cm?

3. Another totally different spring has a spring constant of 249 N/m.  How far will it distort when you hang a 5.400 Kg mass from it?

4. A spring has a constant of 34 N/m, and a 3.00 kg mass hangs from it.  What would be the period of motion of the mass on the spring?

5. You need a period of exactly 1.00 seconds, and you have a mass of 230 grams.  What must be the spring constant of the spring?

6. You need a period of exactly 1.00 seconds, and you have a spring constant of 120. N/m.  What must be the mass on the spring (in grams)?

7. Joe takes an unknown spring and hangs a 5.000 Kg mass on it.  The weight of the mass stretches the spring 230.3 cm.  What would you expect the period of the mass to be if it were set in motion?

